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FACULTY OF COMMERCE

B.Com. (Third Year) (Sixth Semester) EXAMINATION

MARCH/APRIL, 2018
MANAGEMENT ACCOUNTING

Paper 11

(Monday, 19-3-2018) Time : 10.00 a.m. to 12.00 noon
Time—Two Hours Maximum Marks—40
N.B. .— (1 Attempt A/l questions.

(1) Figures to the right indicate full marks.

(ifi) Use of simple non-programmable calculator is allowed.

() Wd YA gredn

(7)) IoETRSIA & YU 07 guifeda.

() GET AA-TTHEE hoRelel AT AT ST

1. The following is the Balance Sheet of Ashtvinayak Company Ltd. as on 31st

December, 2016 : 10
N 3

Creditors 1,74,000 | Cash 60,000

Provision for taxation 16,000 | Debtors 1,20,000

Outstanding expenses 10,000 | Inventory 1,60,000

Long-term loan 50,000 | Fixed assets 1,60,000
Share capital 1,60,000
Reserve 60,000
Profit and Loss Account 30,000

5,00,000 5,00,000

P.T.O.
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Other information :

Net Sales : ¥ 6,00,000

Cost of goods sold : ¥ 4,50,000
Opening Inventory : T 2,00,000
Calculate :

(1) Current ratio

(11) Liquid ratio

(§i7)) Debtors turnover ratio

(ivy  Inventory turnover ratio.

2 )

A—45—2018

At Suel of. 9 31 fed. 2016 = feod faenw @rela gaml TR .

z 3
STH 1,74,000 | @ 60,000
ERALICIRGRG 16,000 | eTerHi 1,20,000
e I 10,000 | =4 1,60,000
TreihTel oot 50,000 | feer Tuxit 1,60,000
q iEad 1,60,000
et 60,000
TY-BIM 30,000

5,00,000 5,00,000
T Hifedl

e fas! : ¥ 6,00,000

TS

forshid e @ Hed : ¥ 4,50,000
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AR =hY : T 2,00,000

Qe SiHld onlal
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()  STHAU Ed ST
(iv) Y ITEd ST
2. The following are the Balance Sheets of a concern for the years 2015 and
2016. Prepare a comparative balance sheet : 10
Balance Sheet

As on 31st December

Liabilities 2015 2016 Assets 2015 2016
g 4 3 3

Equity share capital 6,00,000 8,00,000 Land & Buildings 3,70,000 2,70,000
Reserves & Surplus 3,30,000 2,22,000 Plant & Machinery 4,00,000 6,00,000
Debentures 2,00,000 3,00,000 Furniture 20,000 25,000
Long-term loans 1,50,000 2,00,000 Other fixed assets 25,000 30,000
Bills payable 50,000 45,000 | Cash 20,000 80,000
Sundry creditors 1,00,000 1,20,000 Bills receivables 1,50,000 90,000
Other Current Debtors 2,00,000 2,50,000
Liabilities 5,000 10,000 | Stock 2,50,000 3,50,000
Prepaid expenses — 2,000
14,35,000 16,97,000 14,35,000 | 16,97,000
P.T.O.
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2015 70T 2016 A1 TETET WIeld STTACIeA Teh! FEI= ferdifaervmass garcs
feerdt foemon @R 7 :

Rerdt faawor
31 fedsr <=
oo 2015 2016 ot 2015 2016
4 4 z 4

AT 9T Aigaa 6,00,000 8,00,000 | 9t = zERa 3,70,000 | 2,70,000

wfedt 9 aremEn 3,30,000 2,22,000 | @ 9 HIA 4,00,000 | 6,00,000

EERC] 2,00,000 3,00,000 | ST 20,000 25,000

< Hed el 1,50,000 2,00,000 | 3R feer Houwht 25,000 30,000

%7 fam 50,000 45,000 | A= 20,000 80,000

fafaer et 1,00,000 1,20,000 | wr= faws 1,50,000 90,000

TR T I 5,000 10,000 | =orR 2,00,000 | 2,50,000

=Y 2,50,000 | 3,50,000
qaed @ — 2,000
14,35,000 16,97,000 14,35,000 |16,97,000
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From the following data relating to the assets side of the Balance Sheet

of Sharad India Ltd. for the period 2011-12 to 2014-15, you are required

to calculate the trend percentage taking 2011-12 as the base year :

Assets 2011-12 2012-13 2013-14 2014-15
Cash 20,000 30,000 40,000 10,000
Debtors 80,000 1,20,000 1,60,000 2,00,000
Stock 2,00,000 2,80,000 3,50,000 4,00,000
Other current assets 1,00,000 1,00,000 1,30,000 1,50,000
Fixed assets 8,00,000 9,20,000 |10,00,000 [12,00,000

IR sfean fa. = wreht foeiean feerd-foerom=n U<t a0 dadia Afedieoed

2011-12 T 2014-15 a1 HIAELER Fait Ffawd (Fa FReMR) = AR H.

2011-12 T 99 SR I8 =

wut 2011-12 2012-13 2013-14 2014-15
e 20,000 30,000 40,000 10,000
EED 80,000 1,20,000 1,60,000 2,00,000
@Y 2,00,000 2,80,000 3,50,000 4,00,000
TR A Fodt 1,00,000 1,00,000 1,30,000 1,650,000
feeR wuwit 8,00,000 9,20,000 |(10,00,000 [12,00,000

P.T.O.
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Saraswati Company is considering to purchase a new machine. Two alternative

machines (A and B) have been suggested, each costing ¥ 8,00,000. Earnings

after taxation are expected to be as follows : 10
Year NPV or % 1 Cash Flows (in %)

at 10% Machine A Machine B
First Year 0.91 80,000 2,40,000
Second Year 0.83 2,40,000 3,20,000
Third Year 0.75 3,20,000 4,00,000
Fourth Year 0.68 4,80,000 2,40,000
Fifth Year 0.62 3,20,000 1,60,000

You are required to ascertain the more profitable machine. Use discounted

cash flow method.

A YA AAF IF BRE! H0ArA fOaRE 3R, M I3 (A ST B) U
% 8,00,000 fohwci= Fafawamd Teiel Ted. HUAMR SR STUfEd et et feereft
R :

st 319 10% HET TEA e TaE ()
A Tod IaT A g% B
Tfgel as 0.91 80,000 2,40,000
T Tu 0.83 2,40,000 3,20,000
fam ad 0.75 3,20,000 4,00,000
g 0.68 4,80,000 2,40,000
e ool 0.62 3,20,000 1,60,000

TRl S YRR o ae HiearE] 3R, 3T98d e Yo 95d ool
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The Vitthal Ltd. provides you the following figures relating to production cost

for the year 2016 :

Items Budget Actual
®) ®)

Direct Materials 1,20,000 80,000
Direct wages 40,000 48,000
Sundry supplies 2,000 1,600
Indirect wages 32,000 28,000
Maintenance of Machine 16,000 20,000
Depreciation 4,000 4,000
Motive power 20,000 24,000
Production Manager’s salary 12,000 16,000

Prepare responsibility accounting report for production cost centre, showing

therein variances from budget in absolute figures and also in percentage

form.

fagar fa. 3 e9ome 2016 o o=l Scaes UReAAT HWifed! ©iel foeft oTE

ue S HEPECIR] qeaeT

®) ®)
A& |l 1,20,000 80,000
A8 AL 40,000 48,000
fafay geerar 2,000 1,600
AGAH T 32,000 28,000
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TATS 0TSO 16,000 20,000
R 4,000 4,000
Qi EN Cxil 20,000 24,000
3G LIRS 12,000 16,000

~

a\ o = o ~ [y
cd{lel Hlledld®d scllgd URedd chgldl 3diqlidcd ciellchH 3Hegdlel diX chod did tlﬁ":l;U'f

T 9 Gfasd @eadal fagen estan.

Prepare an estimate of working capital requirement from the following

information of a ‘Sujata’ trading concern : 10
(a) Project annual sales 1,00,000 units
(b Selling price I 8 per unit
(0 Percentage of net profit on sales 25%
(d) Average credit period allowed to customers 8 weeks
(e Average credit period allowed by suppliers 4 weeks
) Average stock holding in terms of sales

requirement 12 weeks

(20 Allow 10% for contingencies.

Tt feeTedT TRl ST’ SR HEE=A1 Hifedae STeRdeh TG hRGR qedd
IR A ¢

(31)  oierfsa afSier fersnl 1,00,000 3FTE
(F)  fo=t fema 3 8 gfq
(%) fami stid fead Tw= gfaea 25%

(8)  TEH AT HI0I STl SURET GUE Shiclaet 8 37T

(3) ECRRH Al T SUR= srerad 4 ST

(F) Tosi=a AEvIRdIaR TWEA ¥Ry 9RO FHera 12 2Teae

() HYeg wEEer 10% |
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Or
(fenam)
Write short notes on :
(1) Significance of working capital management.

(11) Importance of capital budgeting.

~

reaa fear famgr

(1) FRFRR ATSTATAT LIS Al

(i)  VSaclt ASSIIShe Hed.
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